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CONIGLIO

Convolution: its bark is worse than its bite!
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spojité signaly

t
s, (H) s, (t) = j s (X).S, (t=X).dx =S, (0).S, ()

—00

diskretni signaly

5.(M)*5,(0) = Y 5,(0)8,(n ) = $,(2)8,(2)
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s, (H s, (1) = Tsl(r).sz(t -1)d1 =

= Tsl (t-Ds,(dt  =5,(w).S,(w)

—00

Dukaz:
o X=t-1
s, (1) Os, (t) = j s,(1)s,(t-1)dr=|T=t-x|=
o dt =-dx

—00

= — jsz(x)-31(t -x).dx =s,(t)Cs, (1)

00
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Konvoluce kauzalnich signalu:

= pro kauzalni signaly plati s(t) =0 prot<0

s(t)

51(1:) =0 T
T /_\—/ : ¢ o —
s(t) (a)
S,t-1) =0
0 P (=0
Q .t (b) T
(1) =0 sot-1)=0
0 (t=0)
) T
t s,(t) =0 T ———s,(t-7)= 0
s,(H) Cs,(t) = j s,(1):s, (t—1).dt 2 -
0
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Distributivni zakon:
f,(t) C[f, () CH D] =[f, () CF, (H] T (1)

Asociativni zakon:

fL (1) C[f, (1) + 5, (D] =, (t) T, (1) + £, () T (1)
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Zakon o posunu v case:
Je —Ii

pak

f,(t) o, (1) = c(t),

f,()CEL,(t—-T)=c(t-T),
f(t=T)Uf,(t)=c(t-T)

f(t=T)ORL({t-T,)=c(t-T,-T,)
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signalu s jednotkovym

impulsem
s(t)
definice: T
0 s(t)
j s(t).8(t —t,)dt = s(t,)
konvoluce: oot ot
() b
- T /i\
s(t) 08(t) = ['s(t)3(t ~1)dT = 5(1) ~—— st
0 to t ty —=t
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